Ki, Mobility

N
Flip for x:panda Push Wheel Lock 16" Wheels
ltem Number  Part Number  Description Quantity
la,2-8 502990 Wheel Lock Assembly, Std Push, Right, Flip 1
1b,2-8 502991 Wheel Lock Assembly, Std Push, Left, Flip 1
la, 1b, 2 -8 502836 Wheel Lock Assembly, Std Push, PAIR, Flip 1
3 001905 Nut, Slide, Flip 1
4 102794 M6 x 14, HHCS, BIlk Zn 2
5 101835 M6 Lock Washer Blk Zn 2
6 100658 M6 Nylock Nut BIk Zn 2
7 100746 M6 Flat Washer Blk Zn 2

08-06-2025



[tem Number  Part Number  Description Quantity

8 002913 Wheel Lock Mount Spacer FLIP 1

08-06-2025




